
KCSE 2004 GEOGRAPHY PAPER 2
SECTION A

Answer all the questions in this section
1. a) List two factors that determine the distribution of forests in Kenya. (2mks)

b) Give three economic uses of mangrove forests (2mks)

2 The diagram below show the occurrence of petroleum in the earth’s crust.
Use it to answer questions (a)

a) Name the substances in the areas labeled L. M and N (3mks)
b) Give two by-products obtained when crude oil is refined (2mks)

3 a) A part from historical sites name two tourist attractions along the coastal
strip of Kenya. (2mks)
b) Give three reasons why it is necessary to preserve historical sites

(3mks)
4 a) Differentiate between manufacturing and tertiary industries (2mks)

b) State three factors that led to the growth of iron and steel industry in the
Ruhr region of Germany (3mks)

5 a) State three environmental conditions which favour commercial beef.
farming in Kenya. (3mks)
b) Name two two exotic breeds of cattle reared in commercial ranches in

Kenya. (2mks)

SECTION B
Answer questions 6 and any other two other two questions from this section.

6. The table below shows four principal crops produced in Kenya in the years 2000
2001.  Use it to answer question(a) and (b).
CROP AMOUNT IN METRIC TONS

2000 2001
Wheat 70,000 130,000
Maize 200,000 370,000
Coffee 98,000 55,000
Tea 240,000 295,000

Source: Central Bureau of statistics
a) (i) Using a scale of 1 cm to represent 50,000 metric tons, draw a

simple comparative bar graph based on the data above. (8mks)
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(ii) State two advantages of using comparative bar graphs (2mks)
b) Calculate the percentage increase in wheat production between the years

2000 and 2001. (2mks)
c) State five physical conditions required for the growing of tea in Kenya

(5mks)
d) Explain four problems experienced in small scale tea farming in Kenya

(8mks)
7. Use the map of East Africa below to answer questions (s).

a) (i) Name the railway terminuses marked P, Q  R (3mks)
(ii) In each case  give the main commodity transported by the railway

lines marked s and T. (2mks)
b)         (i) State four reasons why road network is more widespread than

railways in East Africa. (4mks)
(ii) One of the problems facing road transport is the high frequency of

accidents.  Explain four conditions of roads in Kenya that may lead
to accidents. (8mks)

c)         i) Name three physical regions through which River Tana passes
(3mks)

ii) Explain thee effects of land pollution can be controlled
d) State four ways through which land pollution can be controlled (4mks)

9. a) i) Name two types of rural settlement patterns. (2mks)
ii) A part from urban-rural migration. Name two other types of

migration.
b) A part from pollution, explain four problems experienced in urban centers.

(8mks)
c) i) Name two non-food agricultural industries in Thika (2mks)

ii) Explain four factors that have led to the growth of Thika as an
industrial town. (8mks)
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